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The Maharaja Sayajirao University of Baroda

Faculty of Science
ENTERANCE EXAMINATION - 2022
PROGRAMME: BACHELOR OF COMPUTER APPLICATIONS

DAY & DATE: Thursday, 7" July 2022 TIME: 12:00 PM to 1:30 PM

Important Instructions:

1. This test booklet is to be opened only when instructed by the invigilators to do so.

2. This booklet carries 50 questions. All questions carry equal marks.

3. For every correct answer, candidate will earn 2 marks; 0.5 marks will be deducted
for every wrong answer.

4. Exam Seat Number must be entered correctly in the OMR sheet, as advised by the
invigilators. The Question Booklet code (A, B, C or D) must also be mentioned on
the OMR sheet (If not printed already) as instructed.

5. Answers must be marked in the OMR sheet using a black or dark blue ball point
pen only. The circle should be filled in completely, leaving no gaps.

Correct way of marking answer: Incorrect ways of marking answer:
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6. Gadgets (Mobile phones, pagers, earphones, music players, calculators etc.) are
strictly prohibited in the exam hall. If any candidate is found in possession of any of
these at his/her exam seat, he/she is liable to be disqualified.

Invigilator’s Signature:
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A

Questions
usll

Three sportsmen start jogging along a circle. The first one completes one round in 24
seconds, second in 36 seconds and the third one completes in 48 seconds. After how much
time will they meet at the same point together?

AQL RHALRL aduusk 001 A3 52 B. USAL RUAR As AGes 24 AsosH, 6lll RUALR 36

Asos UL A ol UALR 48 Asos ML YA 5 B. 32l AMaA ULl Al As o (g AsA& LA

(A) 4 minutes 12 seconds 4 @A 12 (B) 2 minutes 24 seconds 2 @24
(C) 2 minutes 20 seconds 2 @20 (D) 3 minutes 36 seconds. 3 M. 36 A
A person decided to share Rs. 117 among his friends P, Q and R in the ratio %: %: i . But by

mistake he divided in the ratio 2: 3: 4. Who gained in this transaction?

As AN Aotl AA P, Q AR A 1/2: 1/3: 1/4 oll YHIRMI 3.117 ddUclle] oissl 53, ual gctell Adl
A2 2:3:4 Hi (QewRd 531 1Y, 2L cucslR ML Sl SLAEL &2

(A) Only Q $5c Q (B)Only R $s5cd R

(C) BothPandR G®A P Wa R (D)BothQ andR WA Q el R.

Two vessels of equal volume contain milk and water in the ratio 1:3 and 2:1. If they are

mixed together, what is the new ratio?
UMt oselotl AL cllRABAML 1:3 ol 2:1 ol YHIRME £ A Wl B, o8l Al AsAUA BB 8l21, Al ol

olR0TR 9 B?
(A) 11:13 (B) 10:12 (C) 2:3 (D) 13:14.

The average weight of some students in the class is 38kg. When 4 students are included, the
average weight becomes 39.5kg. The weight of those 4 students were 46, 52, 36 and 42kg.
Then the total number of students including 4 new students is......

aolul 3ecuts [QauellAlef AR coset 38 (5.91 B2 4 (Azie[Alel UHAL UL B, AR ARRALL cogol
39.5 (5. ol i B, A 4 [QenllAle] closet 46, 52, 36 WA 42 (5. L. &, R otall 4 (QaueRA AR st
(QenellAe(l vt ...

(A) 12 (B) 20 (€) 16 (D) 18.

If p% of q is equal to 7, then what percent of 1 is p? %1 q o] p% A r GRIR B, Al r of 32¢f 251 p B?

q q 1002 100
(A) (B) — (C) e (D) e

1002 100
1 1 1
is
1+x+y~1 * 1+y+z71  1+z+x71
1 1 1 :
Axyz =1, + + G UCECE

1+x+y~1  1+y+z71  1+z+x~

If xyz =1, then the value of

(A) -1 (B) 1 (C) % (D) 3.

The simple interest on a sum of money will be Rs. 600 after 10 years. If the principal is
trebled after 5 years, the total interest at the end of 10 years will be

allQllell REH URe] UM caules 10 ay ULl 3. 600 B. %8l e 5 A Ugdl ARl o1R) &l B, Al 10 crlotl vid et

(A) Rs. 900 (B) Rs. 1200 (C) Rs. 800 (D) Rs. 1000.

(Continued on slip no. 2)
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A

The least number of complete years in which a sum of money deposited at 20% compound

interest will be more than doubled is
Yol anllofl 20e9tHl BN 2ivuL 3 BHL20% UGS cu% UR HL 53¢ 5 (HRW $cll Ay 3.

(A) 2 (B) 5 (C) 4 (D) 7.

A bicycle left the point A towards point B. Two hours later, a motor cycle left the point

A and arrived at B at the same time as the bicycle reached B. If the bicycle and motor cycle

left simultaneously from opposite ends A and B towards each other, they would meet 1%
hours after the start. How much time did it take the bicycle to travel from A to B?

As waAsA A (g A dl (0lg B g ollsofl 2188, A sctts uedl, As W2 wasd (g A Al ollsoll vl B U A
AHA Ll w22 A2ASA B UR USRIL %) UASE vl Hl2R WASEH A 3al B (A6 B3 Asollost dRs Asu
s UM A, Al AL Aol 1 § scls USL 1AL Al A &l B ytlloll Yug3IHl AASHA FeAl MU
ALA?

(A) 7 hours 7 SClS (B) 4 hours 4 SCUS

(C)4.5 hours 4.5 SCUS (D) 6.3 hours 6.3 $CULS.

A ladder 6m long reaches a point 6m below the top of a vertical tower. From the foot of the

ladder the angle of elevation of the top of the tower is 75°. What is the height of the tower?
6 Hl. cioll 81 Qell ateredl ull (LA 6 L. (g Yl USlA B, LSt wotell 2terell 21l GLues ol vl

75 (3ol ®. Al etarell Qe dedl &2
(A) 123 m B) (9++V3)m (€)(6+V3)m (D) (6 + 3V3) m.

A cone of height 9 cm with diameter of its base 18 ¢m is carved out from a wooden solid
sphere of radius 9 cm. The percentage of wood wasted is
clsst otl 9 AL AUl ot A5 ot dNesHIl 9 AL ALUE YA Bl 18 A Wallell Awuicun iy

Glollelell M WA B, Al AW clssl Hidl 32l 25t cls$ oisly 213 6312
(A) 45% (B) 56% (C) 67% (D) 75%.

If 8 is a positive acute angle satisfying cos?6 + cos*8 = 1, then the value of
tan?6 + tan*@is
B tol AYSQL O HI2 cos?6 + cos* =1 WY QA tan?6 + tan*d =

(A); (B)1 (© 3 (D)o.

A man brought a horse and a carriage for Rs. 3000. He sold the horse at a gain of 20% and
the carriage at a loss of 10%, thereby gaining 2% on the whole. The cost of the horse is
A5 ML 3. 300011 LS| el UL cAlell, ABL S| 20% oil SLAEL UR U US| 10% ol ojsAlal A WK

WSER §A 2% ol SLAEL U, A Aslell (EUd ......... &3l
(A) Rs. 1800 (B) Rs. 2000 (C) Rs.1500 (D) Rs.1200.

Fill the blank in the series choosing proper answer from the given choices.
AU uRed (AL 0021 o udEe s3a AR wiLell ol YL,

12,32,72,152, 632
(A) 815 (B) 613 (C) 515 (D) 312.

(Continued on slip no. 3)
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A

Which group of letters will come in the place of question mark (?) ?
s R (7) oll 02018l wRoll 52U g U CA?

QAR, RAS, SAT, TAU, ?
(A) UAV (B) UAT (C) TAS (D) TAT.

If ] =10, JASMINE = 71, then ESTIMATE =?
%\ J = 10 JASMINE = 71,d\ ESTIMATE =?
(A) 71 (B) 82 (C)92 (D) 98.

If MOBILE is written as ZAMSUM, how TUMOR can be written in that code?
A MOBILE &\ ZAMSUM AW cllHL 1A AL A s\sHL TUMOR 3l A ctull astar

(A) HGYAD (B) GGXYA (C)IHZBE (D) BRAIN.

Reptile is related to lizard in the same way as flower is related to

ARYU IR WA A o A ol B B A gt A Aol .
(A) Petal uiwsl (B) stem siutail (C) daisy 3ol st (D) alligator HoIR

Fill in the blank in the following:  o{l2stiui vitcll 021 YR
4:20::6: __
(A) 72 (B) 18 (C) 42 (D) 54.

If Ais the son of B, B is the wife of C and D is the father of C, then B will be the
of D.

B AABAYAD, BAUColl Ue{l D UAD A Coll Al B, ALBA D oll 8l
(A) sister-in-law atell (B) brother-in-law aacll
(C) father-in-law ™R3l (D) daughter-in-law yataly

P X @ means P is brother of Q, P — Q means P is sister of Q, P + Q means P is father of Q,
and P =~ @ means P is mother of Q. Then which of the following represents M is nephew of
N?

PxQUeAPA QA S, P—QUAAPNQ ol oldel, P+ Q A2AP W Q Al QAL UAP + Q WA P A Q
ofl Hicl. Al Ul ol Aottmiell 520 @Qscu £20A D 3 M AN o1l e=llosl B2

(A)N — K + M (B)N x K ~ M (C) N+~KxM (D)N—K+MXxT.

What is the appropriate answer figure which can replace the question mark so that the

question figure form a proper series?
2oL egcllolatl AisS| 52 ® B Yst RQa ol woud 20102 AR olettd?

| 13407 | 34071 | 71534 | 15347 | 47915| ? |

(A) | 79156 (B) | 54791 (C) | 79154 (D) | 97154

(Continued on slip no. 4)
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Fill the blank in the following problem figure:

A

Oj-'OD::

(A) @

L@

ol Aol 2ULg[AHL well 2ol YRA:

1

, &
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Rl

Find out the correct answer figure that should come next in the sequence of problem
(AL 5HHL UL ALl HESA A 01924 LA 0L

figures:

s

X

What should come in place of question mark in the problem figure?

(AL ys Raoll o0 g uiad SN2

. PN

oDo

;

o
S

-
(A)

o
(B)

What is the antonym of ‘EXONERATE’?

(A) VINDICATE

(B) ACQUIT

The synonym of ‘GENERIC’ is

(A) SPECIFIC

(B) DEFINITE

(C) SENTENCE

(C) UNIVERSAL

Fill in the blank with correct article in the following sentence:

“] often suffer from

(A) the

back pain”
(B) a

(C) an

Choose the correct form of the tense for the given sentence:
“He very little when there are strangers present”.

(A) had always spoken
(C) is always speaking

(B) was always speaking
(D) always speaks.

LK

o« %
(0)

(D) ABSOLVE.

(D) PRECISE.

(D) No article needed.

(Continued on slip no. 5)
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A
Fill in the blanks in the following sentence:
“No sooner the Sun , than the birds start chirping”.
(A) did, rise (B) is, rise (C) do, rise (D) does, rise.

One word substitution for ‘Government by rich’, is
(A) Oligarchy (B) Aristocracy (C) Pantisocracy (D) Plutocracy.

Which of the following sentences is correct?

(A) Hardly have the sun rose when the stars disappeared
(B) Hardly had the sun risen when the stars disappeared
(C) Hardly did the sun rose when the stars disappeared
(D) Hardly does the sun rise when the stars disappeared.

The power of a supercomputer is measured in terms of
YUR SR Retl AR AHL HUAUHI A D ?

(A) MIPS (B) BIPS (C) TIPS (D) FLOPS.

The term QWERTY refers to
QWERTY 26€ 9 JUA D ?

(A) a standard for CD-ROMs (B) the traditional keyboard layout
(C) a standard for data compression (D) the standard CPU cabinet design.

What does the acronym USB stand for?

usB A2A...
(A) Ultimate Serial Bus (B) Universal Software Base
(C) Ultimate Soft Bias (D) Universal Serial Bus.

Which computer language was developed by Brian Kernighan and Dennis Ritchie at Bell
Labs?  Ad QoM sltdet slelelot U 3R R gl 58 5112422 et [AsctetHl well sdl?

(A) BASIC (B) PASCAL (C) FORTRAN (D) C.

Which of the following is not a type of computer network?
o{lAstHiell s20 s12j2R Az csall UsIR otel?

(A) LAN (B) WAN (C) MAN (D) FAN.

In MS-Word which shortcut key is used to redo action?
MS-Word Hi 58 2liése Sloll Gullol (3aual g3lell sral M2 a2

(A) Ctrl+R (B) Ctrl+Y (C) Ctrl+D (D) Ctrl+E.

In MS-Word what combination of keys do you press to delete an entire word to the right?
MS-Word Hi R MRl cdtefotl AL AGEA 513 atliiell HIZ2 Aotl GUADL 52302

(A) Ctrl+Del (B) Alt+Del (C) Shift+Backspace (D) Shift+Alt+Del.

Which is the correct formula for adding cells B4 and F7 in MS-Excel?
MS-Excel Hi B4 e F7 s1™l GRRclle] UL {2 53 872

(A) B4 = F7 (B)=B4 + F7 (C)B4+F7 = (D) None of these.

(Continued on slip no. 6)
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The minimum zoom in MS-Excel is
MS-Excel Hl ofolctH RH ........ .

A) 1% B) 10% C) 100% D) 400%.
(A) (B) (€) (D)

The maximum number of slides in MS-Power Point will be
MS-UlelR W o Hi RS Uoll HedH vl ............ 89l

(A) 25 (B) 256 (C) 255 (D) No limit.

Which of the fruits contains least amount of Vitamin C?
sl g0 HL AL A Y (QatPot fl sl B2

(A) Strawberry %@aﬂ (B) Apricot %RELU]
(C) Dates WH%R (D) Apple U %%l

The Chromosome number in man is 46. What is it in Orangutan, Chimpanzee and Gorilla?
HIGLRAML 2012te{l vl 46 B. BR92lot, R1uledf] el SNREAH A g B?

(A) 42 (B) 44 (C) 46 (D) 48.

English scientist, Rayleigh received Nobel Prize for the discovery of
............. ofl 2t M2 2y Asitlols AN AAA Y2512 e

(A) Nitrogen dl&S@"&d (B) Argon N
(C) Mercury Yl (D) Gold %Tl°1

Who among the following has a right to attend the Lok Sabha session though he is not a
member?
o{lAstiHiell Sl A AeU ol Slell Ocll, ASAUGHL UAHL 513 WU clloll AU SR B?

(A) Chief Justice Hu=l ceuaui[E[ (B) Auditor General (32 et
(C) Vice President GU Uyquw (D) Attorney General Aeof[ ol

Eighth Five Year Plan covered the period

el duala Aoyl ............. AHAUOUA WA A B,

(A) 1990-95 (B) 1989-1994 (C) 1991-96 (D) 1992-1997.
The Gujarat High Court was established in the year

opsRd slessleall euatl i .......... uiae ol

(A) 1957 (B) 1958 (C) 1960 (D) 1964.

The most abundant element in the Earth’s crust is

yeclott WusiHl el ay QY YyHgMl d ........... 8.
(A) Aluminum 21@:1@@2&3{ (B) Nitrogen  slleS2loal
(C) Oxygen W (sA%ot (D) Phosphorus  $l2g2.

The coastal areas of which of the following oceans is called “Ring of Fire”?
ol AstiHiel s2ul 1ALl €(F2Lsi6l0tl (AR "Rol 25 $l2AR" sdclML ALA B?

(A) Atlantic ocean Vel s HolUL (B) Pacific ocean Y2llcl HERUIIR
(C) Indian ocean (€ HELALIR (D) Arctic ocean 528 HOLRIR

THE END
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